10.

11.

12

13.

14.

15.

[o]

Mention the Noun “ cow has four legs”
A) Material noun
C) Common noun

() B) Collective noun
() D) Abstract noun

Mention the Noun “ Honesty is the best policy”

A) Material noun () B) Abstract noun

C) Proper noun () D) Collective noun

Ramesh killed the cow with gun find the predicate in sentence?

A) Ramesh Killed the () B) Killed the cow with gun
C) cow with his gun () D) Ramesh

A is the name of a person, animal, place or thing.

A) Sentence () B) Noun

C) Adjective () D) Pronoun

A is a word having the opposite meaning as another word.

A) Synonym () B) Antonym

C) Conjunction () D) Interaction

“I speak English fluently” which kind of adverbs is used?

A) Adverb of manner () B) Adverb of place
C) Adverb of time () D) Demonstrative
A word that described an action or say something about the subject is called
A) Verb () B) Adverb
C) Sentences () D) Adjective
A noun that refers to female is said to be of the .
A) Common gender () B) Feminine gender
C) Masculine gender () D) Neuter gender
How many kind of sentences can be formed from a statement?
A) Three () B) Two
C) One () D) Four
An is a word that qualifies to verb?
A) Interjection () B) Conjunction
C) preposition () D) adverb
Write the synonym of advocate.
A) Begged () B) fight
C) Among () D) Argument
Fill in the blanks with suitable prepositions. Mohan was the winner------ us.
A) Among () B) Between
C) With () D) In
Write the opposite of Dirty.
A) Clear () B) Clean
C) Catch () D) Costly
we will go to the theatre to watch a play .
A) Yesterday () B) Tomorrow
C) Ago () D) Before

Find the tense. He was going to school.
A) Simple present

( B) Simple past
C) Present continuous (

D) Past continuous

~— —
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

[o]

The heart of a normal healthy person beats times in a minute.
A) 50 () B) 72

C) 100 () C) 26

We should keep our surrounding .

A) dirty () B) clean

C) warm () D) very cool

The child has a set of milk teeth.

A) 10 () B) 20

C) 32 () D) 26

The red light tells you to

A) wait () B) stop

C) go () D) cross the road
Earth roates from .

A) west to east () B) east to west
C) north to south () D) eastto north
Animals that eats the flesh of dead animals are called

A) scavengers () B) carnivores

C) herbivores () D) None of these
A gentle wind is .

A) breeze () B) gale

C) storm () D) Flower
Fishes have these to breathe.

A) Gills () B) Lungs

C) Air holes () D) Nose

Plants breathe out .

A) Oxygen () B) Carbon dioxde
C) Hydrogen () D) Root

The planet is known as Red planet.

A) Mars () B) Earth

C) Venus () D) Moon
Human beings breathe out

A) Carbon dioxide () B) Urine

C) Sweat () D) Oxygen

Sl unit of length is

A) Metre () B) centimetre
C) kilometre () D) hectometre

is a name of galaxy.

A) Milky way () B) Constellation
C) Stars () D) Sun

Name of the woman of Indian origin who resided in space?

A) Kalpna chawla () B) Sunita Williams

C) Edmin aldrin () D) Michael collins

Tha smallest part of our body is called as

A) Cell () B) Tissue

C) Organ () D) Skin
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31.

32.

33.

34

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

[o]

An area in a desert where trees grow around a water source is called a/an?

A) Lagoon () B) Oasis

C) Luni () D) Kikar
Which of these states remains dry even during the monsoon?

A) Kerala () B) Meghalaya
C) Karnataka () D) Tamil nadu
The taming of animals is called?

A) Horticulture () B) Agriculture
C) Livestock rearing () D) Fertilizers

is the hardest substance in our body .

A) Enamel () B) Crown

C) Dentine () D) Pulp
Twenty three million twenty five thousand ten is equal to

A) 23025010 () B) 232510

C) 2302510 () D) None

In an election candidate A got 648600 votes and candidate B get 758500 Votes. How many more votes did
candidate A get ?

A) 109900 () B) 109100

C) 100000 () D) 20900
786+819-16536+78 =

A) 4999 () B) 1393

C) 1399 () D) 786963
4025001+1000 gives remainder

A) 1 () B) 5001

C) 500 () D) 4025
67945+445 gives.

A) Q=152,R=305 () B) Q=305,R=152
C) Q=152,R=0 () D) Q=305,R=0
4 ten thousand+3thousand+9hundreds+97?

A) 4399 () B) 43099

C) 43999 () D) 43909

99 x 3 x 10=?

A) 2970 () B) 2790

C) 7290 () D) 9200

The cost of 12 bulbs Rs. 5172. What is the cost of one bulb?

A) 431 () B) 429

C) 400 () D) 430

If 12345 is divided by 10 the answer is?

A) Q=123:R=45 () B) Q=12:R=5
C) Q=1234:R=5 () D) Q=1234:R=0

Ravi walks 350m to a shop and then walks another 550m to reach his school.

The total distance covered by him is?

A) 900m () B) 700m
C) 800m () D) 650m
The face value of 2 in 12675 is?

A) 20 () B) 2000
C) 200 () D) 2
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[o]

Raman buys 3 note books worth Rs.20 each and gives Rs.2000 to the shop keeper
The change he would get is?

A) 1450 () B) 1940
C) 136 () D) 196
Who many Hundreds make one Lakh?

A) 1000 () B) 100
C) 10000 () D) 10
18times of 5is .

A) 75 () B) 80
C) 90 () D) 105
Atul's uncle visited him on 215 March and left on the 8" day. He left on?
A) 26" () B) 29"
C) 27 () D) 30™
How many hectograms make one 1 kilo gram?

A) 10 () B) 1

C) 100 () D) 12
125 divisible by .

A) 2 () B) O

C) 5 () D7

Sunil bought 3 boxes of chocolates. Each box has 20 chocolates.
How many Chocolates did he buy in all?

A) 80 () B) 50

C) 60 () D) 90
Kashmiri men and women wear .

A) Bhaku () B) Phiran

C) Saree () D) Turbun
— isanorth eastern state of India.

A) Assam () B) Meghalaya
C) Manipur () D) All of these
The southern plateau is shaped like a .

A) Cone () B) Cirle

C) Rectangle () D) Square
The Parliament of USA is also called .

A) Sansad () B) Congress
C) Parliament () D) Gram sabha
A cart without wheels is called a .

A) Bench () B) Boat

C) Launch () D) Sledge
Who proved that the earth is round?

A) Copernicus () B) Aristotle
C) Magellan () D) Aryabhatta

When is environment day celebrated?
A) 05 June () B) 22 April

60.

C) 09 January ) D) 26 April
Dengue is caused by which virus?

A) Chikenguniya ) B) Dengue virus
C) Poxvirus ) D) Mosquito
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

[o]

Where was the National Convention on Innovations in Green Highways recently inaugurated ?

A) Agra () B) Lucknow ()
C) Jaipur () D) Patna ()
Largest river of the world is .
A) Ganga () B) Volga ()
C) Nile () D) Yamuna ()
was considered as Oxford of East .
A) Allahabad University () B) Delhi University ()
C) Nalanda University () D) JN.U ()
National Human rights day was celebrated on .
A) 12 December () B) 11 May ()
C) 10June () D) 11 June ()
Who is the chairman of ICICI Bank?
A) Chanda Kochar () B) Indira Nooi ()
C) Neelam Kochar () D) Arundhati bhattacharya ()
Reserve Bank of India recently notified withdraw! of legal tender of which notes ?
A) 100 & 1000 Rupees notes () B) 500 & 1000 Rupees notes ()
C) 50 & 1000 Rupees notes () D) 20 & 500 Rupees notes ()
Railways has trains to visit tourist places of India.
A) Bharat darshan () B) Maharaja Express ()
C) Palace on wheels () D) All of these ()
India becomes largest efence spender.
A) First () B) Second ()
C) Third () D) Fourth ()
First woman to climb Mount Everest .
A) Junko Tabei () B) Rita Faria ()
C) Nicholas Tabie () D) Ghunghou Tabie ()
Who has asked the centre to devise a common minimum programme to deal with rising pollution ?
A) Supreme Court () B) High Court ()
C) Lower Court () D) Civil Court ()
Which bollywood personality has been appointed as the brand ambassador of Switzerland tourism
A) Ranveer Kapoor () B) Ranveer Singh ()
C) Salman Khan () D) Kunal Kapoor ()
Which is the deepest river in the world?
A) Congo () B) Yamuna ()
C) Nile () D) Kaveri ()

First Indian woman to go into space

A) Bachhendri pal () Ié) Kalpana chawla ()
C) Kiran Bedi () D) Arundhati roy ()
How many languages are there in Eighth schedule of Indian Constitution?

A) 22 () B) 25 ()
C) 28 () D) 20 ()

Which Indian — American author will be honored with Tata Literature Live Lifetime Achievement
Award for 2016 ?

A) Amitav Ghosh () B) Santanu Ghosh ()
C) Raj Bisaria () D) Banshi Bisaria ()

?
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76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

[o]

Which of the following country got highest number of medals in 2016 Olympic games?

A) Brazil () B) ltaly

C) United kingdom () D) US.A

Who was the First Cricketer who scored double hundred in ODI?

A) Sachin tendulkar () B) Sunil gavaskar
C) Rohit Sharma () D) Dhoni

Mother Teresa was given Saint Honour in .

A) 2016 () B) 2015

C) 1979 () D) 2014

Which is the India’s Highest Civilian Award ?

A) Arjuna award () B) Ashok chakra
C) Bharat ratna () D) Samman award

What is a collection of web pages called ?
A) Hyperlink () B) Internet
C) Website () D) Clipart

What is the internet ?
A) A network connecting 100 computers () B) The largest network in the world
C) Name of a website D) A type of badminton net

Which folder can not be deleted from Desktop generally

A) My document () B) My computer

C) Recycle bin () D) Dust bin

In the word multimedia, the word “media” refers to?

A) Movie clips () B) Graphic and text
C) Animation () D) All of these

The shape of start recording button in the sound recorder program is
A) Square () B) Triangle

C) Round () D) Star

Which box stores all the commands that you have given in the input box ?
A) Input Box () B) Output Box

C) Command Recall List Box () D) Processing Box

Which command will you use to erase the unwanted lines ?

A) Pen Paint (PPT) () B) Pen Erase (PE)
C) Home () D) Pen Down (PD)
The shortcut keyboard keys for shut down the system is

A) Ctrl+R () B) Alt+F4

C) Ctrl+S () D) Ctrl+F4

Power point is a software used to .
A) Make presentation. () B) Listen to music
C) Search for information on the internet ( ) D) Type letters

The area on a slide with a dashed border in which you insert the text and other elements is known as :

A) Slide Area () B) Place holder
C) The Ribbon () D) Drawing area

www stands for
A) world wide web

( B) world wire web
C) web world wide (

D) wire wide web
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